Difference between the given kE

Potential kJ assuming that Difference of  Difference of PE to kJ (Assuming kJ Maximum free fall Maxi kE of ( ing Jouels mi to the Difference between given velocity and
Profile Height mass block kg Max kE (givenink)) joules are given PE kJ PE to given kl _is given as Joules) Max Velocity  velocity (m/s) kE of Velocity  freefall velocity KE of the given velocity free fall velocity (m/s)
1 88 100 72.328 16 41.55 12.8 86.328 25.55
88 1000 743.28 14 41.55 98 863.28 27.55
88 10000 7232.8 16 41.55 1280 8632.8 25.55
2 33 100 30.173 6.3 25.45 1.9845 32.373 19.15
33 1000 305.53 7.21 25.45 25.99205 323.73 18.24
33 10000 3175.267 3.27 25.45 53.4645 32373 22.18
3 334 100 313.627 16.29 80.95 13.268205 327.654 64.66
334 1000 1526.54 463 80.95 1071.845 3276.54 34.65
334 10000 21565.4 63.5 80.95 20161.25 32765.4 17.45
4 145 100 107.745 28.43 53.34 40.413245 142.245 24.91
145 1000 839.05 34.42 53.34 592.3682 1422.45 18.92
145 10000 72515 33.25 53.34 5527.8125 14224.5 20.09
5 123 100 56.363 36.32 49.12 65.95712 120.663 12.80
123 1000 536.63 33.24 49.12 552.4488 1206.63 15.88
123 10000 5796.3 335 49.12 5611.25 12066.3 15.62
6 103 100 46 44.95 105.8 101.043
103 1000 45 44.95 1012.5 1010.43
103 10000 435 44.95 9461.25 10104.3 1.45
7 336 100 . 321.296 12 81.19 7.2 329.616 69.19
336 1000 3213.16 115 81.19 66.125 3296.16 69.69
336 10000 25961.6 11.5 81.19 661.25 32961.6 69.69
8 104 100 87.724 16.7 45.17 13.9445 102.024 28.47
104 1000 150.24 45 45.17 1012.5 1020.24 0.17
104 10000 1552.4 42 45.17 8820 10202.4 3.17
9 95 100 21.195 38 43.17 722 93.195 5.17
95 1000 301.95 36 43.17 648 931.95 7.17
95 10000 2199.5 37 43.17 6845 9319.5 6.17
10 68 100 42.208 36.53 0 66.708 36.53
68 1000 14.08 345 36.53 595.125 667.08 2.03
68 10000 420.8 34 36.53 5780 6670.8 2.53




